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PRINCIPLES OF ECONOMICS-I—106

Semester—I
Time Allowed : 3 Hours] [Maximum Marks : 70

Note :— The candidates are required to attempt two questions each from
Sections A & B and Section C consists of twelve questions and
students have to attempt ten questions.

SECTION—A

1. Explain the Law of Diminishing Marginal Utility.

2. How does a consumer use the law of Equi-marginal utility in
maximising his utility from a given expenditure ?

3. What is indifference curve ? Explain the importance of indifference
curve.

4. Explain the price elasticity of demand and its measurement.
2×10=20

SECTION—B

5. Explain the concept of production. Why production function is
important ?

6. Distinguish between perfect competition and monopolistic
competition.

7. What is law of variable promotion ? Explain the three laws of
production.

8. What is elasticity of demand ? Explain the different types of elasticity
of demand. 2×10=20



SECTION—C

9. Attempt any ten out of twelve questions :

(1) Consumer Equilibrium.

(2) Substitution Effect.

(3) Price Effect.

(4) Monopoly.

(5) Monopolistic Competition.

(6) Utility Analysis.

(7) Discuss merit of Consumer Equilibrium.

(8) Price elasticity of demand.

(9) Cost function.

(10) Internal economies to scale.

(11) Price-discrimination.

(12) Kinky demand curve. 10×3=30

(gzikph nB[tkd)
B'NL gqhfynkoEh Gkr T ns/ n jo/e ftu'A e'Jh d'^d' gqPB eoB. jo/e

gqPB d/ 10 nze jB. Gkr J dk ;zy/g T[Zso tkbk gqPB bkIwh jB, fJ;
ft~u'A e'Jh d; gqPB eo'. jo/e gqPB d/ 3 nze jB.

Gkr—T
1. fvfwfBzPr wkofiBb :{fNfbNh dk B/w ftuko'.
2. e'Jh T[gG'rsk ehs/ you/ s'A T[g:'rsk ƒ nfXesw eoB bJh,

Jhe[Jh^wkofiBb :{fNfbNh dk B/w fet/A tosdk j? < ;gPN eo'.
3. fJBfvco?A; teo s'A eh Gkt j? < fJBfvco?A; teo d/ wj~st dh uouk

eo'.
4. wzr dh ehws b~uesk pko/ uouk eofdnK, fJ; dh g?wkfJP dh ftXh

doi eo'. 2×10=20
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Gkr—n

5. T[sgkdB d/ ;zebg dh ftnkfynk doi eo'. T[sgkdB ekoi feT[A
wj~stg{oB jz[dk j? <

6. ;zg{oD w[ekpb/ ns/ J/ekfXekoh w[ekpb/ ftubk nzso doi eo'.

7. t/ohJ/pb gq's;kjB dk B/w eh j? < T[sgkdB d/ fszB B/w ftuko'.

8. wzr dh b~uesk s'A eh Gkt j? < wzr dh b~uesk dhnK ftfGzB fe;wK doi
eo'. 2×10=20

Gkr—J

9. fe;/ d; d/ ;zy/g T[Zso fby' L

(1) T[gG'rsk ;ws'b s'A eh Gkt j? <
(2) pdb (;p;Nhu{PB) gqGkt s'A eh Gkt j? <
(3) ehws gqGkt doi eo'.
(4) J/ekfXeko d/ noE fby'.
(5) J/ekfXeko w[ekpbk eh j[zdk j? <
(6) T[g:'rsk ftPb/PD d/ noE fby'.
(7) T[gG'rsk ;ws'b dk wj~st ftuko'.
(8) wzr dh ehws dh b~uesk s'A eh Gkt j? <
(9) bkrs ekoi eh jz[dk j? <
(10) ;e/b dhnK nzsoht feckfJsK s'A eh Gkt j? <
(11) ehws ft~u t~yo/t/A s'A eh Gkt j? <

(12) fezeh vhwKv eot d/ noE fby'. 10×3=30


